Name _____________________
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Unit 6: Graphing Equations
    


A Day at Seabreeze
Seabreeze offers its customers an admission option to purchase a spectator pass and buy single ride tickets for each ride they go on.  The graph below shows this relationship:
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1. How does the amount a customer pays change as the number of single ride tickets increases?
2. How is that pattern of change shown on the graph?
3. Based on the graph, how much would you expect a customer to pay if he rides:

1 ride?



5 rides? 


0 rides?

4. What information from the graph might you use to write a rule showing how to calculate customer cost for any number of single ride tickets purchased?

Group Investigation
As discussed earlier, Seabreeze offers its customers an admission option to purchase a spectator pass and buy single ride tickets for each ride they go on.  The equation (rule) 
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, where y is the cost and x is the number of single ride tickets, can be used for this situation.

1. Use the equation above to complete this table:

	Number of Single Ride Tickets
	0
	1
	2
	3
	4
	5
	10

	Cost ($)
	
	
	
	
	
	
	


2. a.)  How much will a customer spend if he does not go on any rides?
b.) How can this information be seen in the equation 
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?

c.) How can this information be seen in the table above?

d.) How can this information be seen in the graph on the preceding page?

3. a.)  How much additional money does a customer spend for each single ride ticket?

b.) How can this information be seen in the equation 
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c.) How can this information be seen in the table above?

d.) How can this information be seen in the graph on the preceding page?
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Checkpoint 
In this Seabreeze example, we have discussed the concepts behind the words y-intercept and slope.  Let’s continue to develop these ideas and words in the following chart.
	
	y-intercept (starting point)—HOW DO YOU KNOW?
	Slope (rate of change)—HOW DO YOU KNOW?

	Graph:


	
	

	Table:

Number of Single Ride Tickets

0

1

2

3

Cost ($)

10
12
14
16

	
	

	Equation:
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